SAP ABAP table LOCATION 1 {City: Identification}
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KNA1l

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

KNVA

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

ABLAD [CHAR (25)]

LFAl

MANDT [CLNT (3)]
LIFNR [CHAR (10)]

TOO1lL

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

TOO1lW

MANDT [CLNT (3)]

WERKS [CHAR (4)]

T300

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

T30B

MANDT [CLNT (3)]

LGNUM [CHAR (3)]

LGTOR [CHAR (3)]

TVKN

MANDT [CLNT (3)]

KNOTE [CHAR (10)]

TVLA
MANDT [CLNT (3)]
VSTEL [CHAR (4)]
LSTEL [CHAR (2)]

TVST

MANDT [CLNT (3)]

VSTEL [CHAR (4)]




